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A2 :- 1. ¥t U A SIFFER €1 Al the questions are compulsoary.
2. Y1 9 & fedt w@ it soR A et weR w jRvemv
fadtenyrg €17 W fe=d v & we e 7

If there is any error/difference/contradiction in Hindi & English

version of question in question paper then the Hindi version of

question should be treated as valid.
WU - 37 ( Section - A ) ( Telah WIH 1 3(® )

1. WM §&A1 | 9=feT | Convert into normal number. 243
2. (16)** ¥ HM IW FMTCI Find the value of (16)*.

3. AR x-5, x*-3x +ax~ 10 F T TEEVE # W 2 F AT T
Hiferg |

TIF X' =5 isthé factor of x° — 3x2 + ax — 10 than find the value of a.

-4 {95 (5, 8) &1 <1 7@ FI9A 1 Find abscissa of the point (5, 8).
5. @R spfa §

X &l HH

@ FHifs | 110°

Find the value of x - X

in the given figure. A o z
6. T WS & qt m:mfmﬂ?mmaﬂm:
Find the sum of all interior angles of a hexagone,
7. AABC # AB=AC 3R ZB=50° ¢ 4t £C =1 917 g #ifg
Ina AABC , AB=AC and ZB =5° than find the valye
’ : of £C.
8. U gwag Fays Gifae et yom s it a1 1

Draw a equilateral triangle whose side is 5 cm.
9. 60° &I g ° sgfer | Convert 60° into radian,
10 fr=fafaa sinl 1 agas 90 Fifdg) - :

Find the mode of the following n )

4,6,5.9,3,2,7,7,6,5,4,9,10,9,3,4 96,9 ¢

PTO.
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ST (e 9T - 2 HFEE)
TeA @ R 3 F1 yefiia F1¢i Show /3 on the number line.
x 9 y &1 5[ Fd HIF9¢ | Find the value of x and .
2x+3y=9, 3x+4y=5
@ e 35 T 1ol 3 A 6 ST 2:3:4 T TR KN 1 70
A HiaCIna triangle if the ratio of all the angles are 2:3:4 than
find the value of all the angles.
FHHIN 9 ABC &1 191 Fitwg i@l ZA =90° &
AC =5.4cm @91 %9 BC =10 9. 1 Construct a right angle

triangle in which ZA = 90° and side AC = 5.4 cm and hypotenuse

BC=10 cm. http://www.rbseonline.com

=1 |27 =7 aregs g Siadd
Find the mediun of the followingdata: 12, 1,6, 4, 10,8, 1, 4
TS - F(TAR U 3 AT HTE)
1

377 15 F & T vfoigE i)

i
Rationalise at the denommatqr 3 \ﬁ+ 5

frefafaa w1 @1 fa@r Sifaa)
Expand the cube of the following : (3a - 2b)*

T i1 5 i 0o % 1 e W - e 1 o
WIS TR E Ay o @ T 1 et @ T

If 1 is added to both the numberator and denominator of a fraction

. 4
it becomes 5 and when 5 s subtracted from both the numerator

and denominator jt becomes *l- find the fraction.
UM e 4 opjRs
ZOPQ=11¢° 3
ZQRS =130° ¢ 5
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fromefas§ AD=BD W@
/C = <E a1 @ fag =ifvg

f& BC=AE

In the given figure

If AD = BD, and

ZC = ZE then prove that
BC=AE

few e fa= Al
x+y=w+zda g
f& AOB & W@ 81

In the given figure if
x+y=w+zthen
prove that AOB is a line. A

fay PQR =t o #ifag & PQ = 6 cm £Q =60° 3R
PQ+QR=8 &t &1

Construct a triangle PQR in which PQ=6cm ZQ=60° and
PQ+QR=8cm.

Y v 1 Qe T it faran yond e 7 ¥, s Wi A 9

[q B
‘Find the area of a triangle whose sides are 7 cm, 8 cm and 9 cm.

ferlt o 97 e A g A 5 Y A T Y A o
peeasuull .
3n

How much time will be taken by the minute hand to cover -

radian.

£ Sl w TETEa J T el 5 AR TF Fiipa IR w2
AT TEA | .

Draw a grouped frequency distribution table by taking class-interval
5 with the help of given data.
2,3,9,86,9.8.7.14.12.6,17,1,15,8
2,12,4,3,10.3,2.6,1.12.5.8,8.4.5

| QuE - T ( WE UFT - 4 37F )
q_ﬂﬁﬁaaqmumaﬂﬁt—.

- Multiply by the formula ‘Nikhilam’ -

21 x24 x 25
awat (OR)

97 x98 x99
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TEIR S I I HMC

Find the zero’s of the polynomials.

() 3% +7x+2 (i) x> +6x° +11x+6
atgar (OR)

(i) x* ~23x% +142x-120 (i) 2x* —7x+6
ot eiteee o SerE fafy | &9 91 Hifa-
2x+3y=13, 5x-2y=4
atgar (OR)
2x+3y=12, 2x+y=6 : .
T AR e 40 . aar 3R 30 M. e 1 39S il S
3 Tiex e anf war 3k el ¥ TR S geN ¥ i T W W
200 %. fd "ot Fi R QA FHie foam 1 =7 F[ Fig |
A rectangular field is 40 mt. length and 30 mt. in breadth, There is
a path way 3 mt. wide in the middle of the field. Parallel to its
length and breadth. Find the total expenditure to concreate the
path way at the rate of Rs. 200 per square mcter.
agar (OR)
TF TFER AT F1 QAFH 625 71 W ¥ 1 7HF " AW AR 2.5
Tt ster wrt a1 gan €1 wrl 1 fawe 3 Sy afg wnl F so
A7t T & FieR 9 oA ® @ fre Sl %) savasa e

“There is a square field winosswres is 625 mt? out side of the field

there is a road of width 2.5 mt. Sun'ounding it find the area of
path. Find the number of tiles fit on the road if the side of square
shaped tiles is 50 cm.

fea T s W F Ty e agys 953
Draw a frequency polygone for the following distribution :

Fi 1 05| 5-10] 10-15 | 15-20 [ 20-25] 25-30
m 1 151 127 10 18 | 1 7
____¥wy(OR)

m(aﬂ‘fﬁ) _oqo_ 10-20} 20-30 | 3040 | 40-50 | 50-60
a1 7] s 2 [ 2 18 ] 9

e ————
-
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